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7.

7T™H CLASS WS-5 SOLUTIONS
SURDS
Teaching Task

Conceptual
Conceptual
Conceptual

3,42,35
1 1 1
= 310,24 55
Taking power 20 which is LCM of 10, 4, 5 = 20

1 20 1 20 1 20
:(3@ ,[24} ,(55] — 32,255

We get 9<32<625 ~Y3<42<3p

1 5
Option A) (5/7)5 = [(7)5j =7 true
5
Option B) 5\/§ = ﬁ True
2 %2

1
1 1\s 1
Option C) {35 = ‘\1/573= [53J =52 =25 True
1

Option D) £/729 =(3°) =31 false
Key - D
|) p6 — 2X — 43
Let 2" =4"=(2*) =2°
S X=6
And p®=2*=2°

- p=2 ( by comparing bases)
ii)qu — 2y+l — 84
Let 2/ =8*=(2°) =22
SYy+1l=12=y=11
And q12 — 2y+1 — 212

-.q=2 (by comparing)
iii) r*® =2"%=16"
Let 272 =16° =(2*) =2¥

24+42=20=12=18

And r20 — 22+2 — 220
~.r=2 by comparing

~x =6
=3B
Descending order

111
%1%1%:32126743



Taking power which is LCM of 4, 6, 3 = 12

N2 N2 o2
(34] [z] (4J L3 24

We get 27, 4, 256
And 256>27>4

o

sl S
_aiaat—ar i —aioa

9. Ya=4b=Fc=kabc=1
Ya=k=a=k"
Similarly, b=k" and ¢ = k®
Given that abc=1
S k™k" kP =
km+n+p =1:k0
Sm+n+p=0

3 3
4. 3/2010 _4.N2010 _, N2010 _ 47010 - Pure surd
64 364 4

_\/2010><402x2_\/402x402x2><5
N 125x125 25x25x5x5

402 \/7 — mixed surd

12. ol x')’ =9

3

10.

O3fx = x3
3 3
ol
3y 3
xPI — o
3y 3
pg g
Ly=p
13. a—Yb=a-Yb=a=aVb+b= (a+1)\/_
g
% a+1
__b:(ij
a+1
4 4
14. @+§/’:m:“§%6

ey
)

:(‘/ng%-G_%:i‘/gXGZ%

5-4 1
=45.6% =4Ex60
:45><2\°/6

15. Column II



PI¥256 — (22 =2 ~2° {7~
)1\2/§=(23)12=2‘11=4/§

r)¥/64 = (26)12—22=J§

$)¥/729 =(3 )12: ézg/g

t)%/196 = (14° )ﬁ =14

a-s,b-r,c—q,d-—p

11
16. a)¥3,4/5 =33 5

Taking power 12 which is LCM of 3 & 4

1 12 1 12
[33J ,(54j =3',5° = 81,125

=

125>81
(‘/g > §/§ (‘/5 is greater
a-s

Similarly, we can do the remaining
We get a—s,b—p,c—r,d—r
LEARNER’S TASK
1. Conceptual
2. Conceptual

1

1Y)2 1
3. 2%/6:[63] 66 =56

Order = 6

4. Conceptual
1

5. ﬁ °) = \/2_2=(22)411 22

7. Order less, values greater
For /2, order = 2
For E/E, order = 5
8. Conceptual
9. a"=x"=16 n>a
-.2=16 by comparing
a=2andn=4
Xt =16=4°
X=4
Substitute above values in options from option C)
2Ja" " = 22" =2\[2P =242 =32
It is greater or by comparing options directly, we get option c as
answer.

10. 3343=a=7:¥216=b=6
3125 =c=53%64=d=4
~¥a, b, e, d are ¥7,36,35,34



Descending order is also same by observing options directly we get

the answer.

JEE MAINS LEVEL

1. Conceptual

N oo &

. 3.4/5 =45x3" =4/405

9

[ =(<512>3)§ (2 =(2)

w

3 1

22 =(23)2 —8=22
32009 i/2009
32010 V2010
Conceptual

WE/S’Z_xJ_J_ZJ_

an ><b” —(ab)

. (ab)" = (ab)
-k =%

Conceptual

10.

11.

12.

13.
14.

15.

ul

J1350 \/225><6 15J_

ADVANCED LEVEL QUESTIONS

Conceptual

1
1 1 1\s
¥1=(11)% =119 =(119] =431 = Y4

Conceptual
Conceptual

5
5 2’()(2)3’ _¢ X2
1

11x+11y =55x—-55y



55y +11y =55x —11x
66y = 44X

X
y

_66_3
4 2

s 2X =3y

17.
18.

19.

Conceptual
Conceptual

x=@=(26)2=2

y—4/64—(8): =8
z=<‘/ﬁ=(4“)‘l*=4

20.

z_ 41
Xy 2x8 4
Column I
Q)16 x 52 = Y16x2 =2° =2
/243 243
b =42 = 4fB1=43" =3
)" ;=61

C)&/4 x 316 = 3416 = Y4° =4

d)

41250 [1250
— 4 = 4/625 = 45* =5
i2 2

s.a-r,b—qg,c—s,d—p

o “

ADDITIONAL PRACTICE QUESTIONS
(xy?)

ofx yz =X6y4 _
=(¢y’)

3
(x*y?)
1

1838£ _ 117649

64 64

[ii7649 7 2 _ga. 72— 49
64 2

By verification method 7° =49x49x49=117649
2+ / _2lre =1+Xx

2401

2401-2176 225 15 49+15 64
Xx=1+,[———— =1+, |[—— =1+—= =

2401 2401 49 49 49
=3/0.008

+0.0064

x = $/0.008+/0.0064 = (0.2)(0.08) = 0.016

Conceptual
Conceptual
Conceptual

1838x64 =117632

1
_|_
X




8.
9.

10.
11.
12.

13.
14.

15.
16.

Conceptual

Conceptual
Conceptual
Conceptual
Conceptual

2008- $/2009 = 32009 x 2008°
1
43t B <3 :(‘/3_8:(38)Z —32=9

If x-Ya is a pure surd, then x = 1
Column -I

/33 =(3) x(4): =432

By taking power 6 we get 3°x4* =432

0)33x45 = (33]{5}1) =%M10125

By taking power 12, we get 3*x5°=10125

437 [(2010)'] =2010

s.a—-q,b—p,c—s,d-r



